— AR AFEAR

MERM =B

SH2FE KREESFER
No. 1 No. 2 No. 3 No. 4 No. 5
T 7 1 7 Y,
No. 1 No. 2 No. 3 No. 4
o 7 T *J
1 No. 1 No. 2
8 5 y
@® @
W g mm 30 5 ) e
103)-(4) 3() x 4(H) = 12(80), Z oMl 2(x0) x 9(#) = 18(s)
@® ©) ®
v done children working
2 @ ® ®
“I' famous must send(show) P
2 205 x 6(1H) = 12(5)
(1) use
3 T =T —=>F%->9->80->%F->7
@® @ ®
? stop what more A
3(2) JEFICEITE THA 3(1)-(2) 305) x 2() = 6(&), Zoft 2(4) x 3(H) = 6(H)
@® ©) ® @ ®
4 Y 4 r r 1 T
(2)| Yes, if 1t 1s sunny , you can see it. A

4(2) 3(x), Zoflr 2(5) x 5(1) = 10(x0)

(1) 1 = 7
@ | (He started to do that) At nine(9) in the morning.

5 ’ He enjoyed taking pictures there.

(3) 3

b T R S

(#1)

) want ~ to  try

to 8o abroad  to

study English. I ~~~~~~ have

never  been abroad. ~I'm
6 interested in  Australia and

Canada. I~~~ want  to

talk with a ot

of people in English

there. 30 _______________________________________________________________________

A




— AR AFEAR

MERE BHF

( §EER ) A
AADEEACEBIZHWVT, D
REDL S,

/BCE=«ZBED-® .
AB=BCd&V,

/DAE=ZECB-©®

ZCT, B C

/BEA=ZBED+«4DEA--®
ACEBIZHEWT, RAAEHNBHDOEREDS,

SM2EE KEEESFFER
(1) -3 (2) —2 1
8 1 (4 x+12
2 Yy
1400 x 51 = 2000
(5) 3Vv15
Vi
1 (x+6) (x—4)
B
(2) —30
P
(5)
3 7EXV4 1
¥ 4
9 < 0 ]
(4) 20 a=b
(9a=205) A
(4) MANETHIIT I v,
2 4(H) x 5() = 20(4)
() 152 g (2) %—
@) 7 x =y "' Sy+4
| e
3 5(s) x 3(1) = 15(2)
W y= T7x—6 @ —1, 5 )

4 (1)404), (2)5(8)

5 /LBEA=Z4BCE+ZEBC:®
®, ®, @h5,
/DEA=ZEBC-0®
@, Oh6, 2HOALIPTAZTHEZELVLDT,
AADELnACEB
(2) 10 cm
5 (1) WAL > TH, FEHOMENIE LiFiuE v,
5 (1)4(x), (2)5(x)
(M y= 20x—300
6
2 26 % 40 BE»r> 46 % 40 BHIT
6 (1)4(x), (2)5(1)
7 ()] a= 19 @7 12 14 16
% (1)4(5), (2)5(4)
8 (1) 48 cm | (2) 640V3 cm®
8 (1)4(xi), (2)5(x)
NE




T = R4 S #®  ov s o :
) N Tl
S e m R U NE WS SR MR P ILE R ORE
| e W MmO 5 8> E & LS 20 Ul oD
R NS N N N
H D KRID WO iDivid 5% i
| Taenit 1T ,H.@h,ﬁ4£m @6%, | |
T = 0 o 8| woHe |5 0o
) ™ ul | ml @ R
! X omow H MV ERE W SRR L RR SR
Eo X IR % KR D OMEE SR #ECNYE R E
N IRVERYE NN VR IR IV P DS N
HE & S » 6 ’
| To 0-1-Bévs Hok
X —’ <
i ™
TN Qo #6 #
___ — m m
151 N
B 5 # € 8 @ & # #% S M W R S 0
N T - 1Tdeir IR~ NI ZRE izl abn
T R[S ) —
Mv @ o0 0 WE< S v B v %W 2 o> 8s b
w ‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘
@ “““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““
q| | e
Bl T -1l 1T - B i ,@wﬁm

D

160

200

lals




SM2FE

1(3) 4(x) x 1(1) = 4(50),
Zofl 2(x0) x (M) = 16(x0)

Ol 0 #

2 A

® 7 - I - A ]

@) a1 AEEE Y

(5 fRIEETE

6) A

7

(1) | CT

(2)| ~NHDOEHM I f

CIE; A E A
i 5 15

@ () AAEREORADEE DL

T30, BhSERShBEIE,

EHFERE

|7

2(4)F3H 405 x 1(1H) = 4(7),
Zofl 2050 x 8(fH) = 16 (5)

IKFEESEFFR

— AR AFEAR

MERM Hx

%

S-S TR Z

2 I 2EE Wk I
(3)| & G T & i 7
(4)] 750 miE T
(5) 7 RiGE

e 5 7o ASEAN

1

< (B1) EEBRDBY, BREBRIEMUL

3(8)X  4(xD) x 1(H) = 4(x),
Zofl 2(50) x 13(R) = 26 (&)

Y 2017 o
(1) 2 EERE A
I G R
@)y I RILNAIL
(@) 8N
4 (5)] wmIER Y
by R—Y < X%
o (PNEBEEEFEICEHFTER
Yot
mE ABh EREEN &G X
®) A ot 200 % 1300 - 2508
B H K 4

X B




SH2FE KRAEESFFR
10 7 @ I |@ 7 |w 4
1308 x 4(M) = 12(4) A
0 ZREY y
(2) LhERE =

feite

LY

2R

2Cu0 + C — 2Cu + CO,

(5) rJ @ 0.7

(6) 54.0 ®) r)
2(1)~(3), (5), (6) 2() x 10(jH) = 20(s%)
(4) 4()x 1 (M) = 4 (&)

TOFOHEMEFRBSE D8,

(5)

7

3(2) W TETHM

(2) T Y 7
(3) T 0L 1=,

3(2), (3), (4), (5) 3Ci0) x 4(F) = 1201
(4) 15313 (1) 400 x 1(H) = 4 ()

—HRAFEAR

MERAE BEH

44D WJTE TR

(1) r) (2) 1800
(3) 03 %
4
@ 2 > 2
(4) 4(1), (2), (4) 3(H) x 4(F) = 12(s%)
@ 1 (3) 400 x 1(H) = 4 (#0)

(1)] a r) b 7
(2) r)
5 . (4) 5000 M
7
:/ —— == >
(3) o[l (5) ZREM
e ~
5(1), (2), (4), (5) 3(&) x 4 () = 12(s%)
0 T (38) 402 x 1(H) = 4 (£0)
5(1) Wi)iCx CIEA
(1) 7
IKZEL DY -® N=]
(2) s LIg® 58%E,
6(1), (2), (3), (5) 3(x0) x 4(F) = 12(4)
6 3 61 % (4) 400 x 1) = 4 ()
(4) 1520 g
(5) 1
va

lads X B K




